A Ik pli3 K i,

HE S moo ik + B AE N+ & oL
H H X 7 ) | n i | n i Wy [ n i Wy [ n
i p H 75 ~ 18 | 1.7 4171 ~ 76 | 74 41 82 ~ 89 | 8.5 4174 ~ 82| 79 4
ﬁ D O 52 ~ 6.8 | 6.0 416.3 ~ 8.1 7.3 41 10 ~ 16 13 41 6.0 ~ 12 | 9.3 4
if;% COD 4.7 ~ 6.6 | 5.7 4138 ~ 5.1 | 4.5 41 95 ~ 12 11 41 34 ~ 74 | 5.1 4
IH S S 2 ~ 12 6 4 2 ~ 9 5 41 14 ~ 32 26 4 1 ~ 7 3 4
H |n—~¥ s 0.8 * 1 0.5 * 1 0.5 * 1 0.5 * 1
T <0.1 * 1 <0.1 * 1 <0.1 % 1 <0.1 % 1
TIVE IV KER <0.0005 % 1 <0.0005 % 1 <0.0005 % 1 <0.0005 % 1
FIRIT L <0.0003 % 1 <0.0003 % 1 <0.0003 % 1 <0.0003 % 1
£ <0.005 % 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
fi A (i PZA=NN <0.005 % 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
i itk <0.001 3 1 <0.001 £ 1 <0.001 * 1 <0.001 * 1
é\ KK ER <0.0005 3 1 <0.0005 £ 1 <0.0005 * 1 <0.0005 * 1
L <0.002 3 1 <0.002 £ 1 <0.002 % 1 <0.002 * 1
R ER R OmmREER) 0,92 ~ 1.3 1.1 210.33 ~ 0.45]0.39 | 2 |[<0.01 ~<0.01|<0.01] 2| 0.08 ~ 0.320.20 | 2
BNTE S 0.2 * 1 0.2 * 1 1.0 * 1 <0.1 * 1
EGES 0.1 * 1 0.5 * 1 0.4 * 1 0.1 * 1
il 0.040 3 1 0.038 £ 1 0.042 * 1 0.040 * 1
I dgn 0.073 3 1 0.058 £ 1 0.052 * 1 0.046 * 1
IS Ve fg gk 0.042 £ 1 0.097 % 1 <0.002 % 1 0.090 % 1
H | YW~ A 0.079 £ 1 0.28 % 1 0.34 % 1 0.10 % 1
H 5/ Au BN <0.005 £ 1 <0.005 % 1 <0.005 % 1 <0.005 % 1
7x/)— VA <0.02 £ 1 <0.02 % 1 <0.02 % 1 <0.02 % 1
. BEmARERE  [<0.001 ~ <0.001{<0.001| 2 |<0.001 ~ <0.001|<0.001| 2 [<0.001 ~ <0.30] 0.15 | 2 |<0.001 ~ <0.001/<0.001| 2
g TUESTHEZESR | 0.13 ~ 0.4710.30 | 21 0.23 ~ 0.35[0.29 | 2 [<0.01 ~ <0.01|<0.01| 2 [<0.01 ~ 0.12] 0.06 | 2
e fHfEREZE 5 092 ~ 1.3 1.1 21033 ~ 0.45(0.39 | 2(<0.01 ~ <0.01{<0.01| 2 0.08 ~ 0.32]0.20 | 2
HAEIATEZE 2 | <0.01 ~ 0.06 [ 0.03 | 2 [<0.01 ~ <0.01| <0.01| 2 [<0.01 ~ <0.01] <0.01| 2 |<0.01 ~ <0.01|<0.01| 2

(%) ¥ir : pHERX, {73 (mg/0), NDIZHHE T,
) LB ORITRIEME AN 1D TH D=6 [ | ORI H LB EFIT,
SO FHBEICEWTOOR ML, 0L L TEHA



WEAK 7K B R A R (R SO4EJE) No. 2
Kk Bli3 7K itk
BUE AL B E WA F

HH X gy i) W | n i) W | n
&3 p H 76 ~ 8381 |4]80 ~ 9.6 ] 9.0 4
ﬁ D O 6.1 ~ 11 ]9.0 [4]80 ~ 18] 14 [4
gﬁfﬁ COD 52 ~ 11 [ 81 | 4|95 ~ 14| 12 |4
15 S S 5 ~ 13| 10 |4] 16 ~ 53| 35 [4
H |n—~aitimZ 0.5 * 1 <0.5 * 1
T <0.1 * 1 <0.1 * 1
7L L KGR <0.0005 x| 1 <0.0005 x | 1
FIRIT I <0.0003 x| 1 <0.0003 x | 1
0 <0.005 x| 1 <0.005 x| 1
fE K fan <0.005 ¥ | 1 <0.005 ¥ | 1
§ fitsE <0.001 x |1 <0.001 x |1
g sk R <0.0005 x |1 <0.0005 x |1
A <0.002 x |1 <0.002 x |1
wmessnommmeas| 0.09 ~ 0.39]0.24 [ 2 [<0.01 ~ 0.51 [0.26 | 2
BNF 0.5 * 1 0.4 * 1
ESES 0.1 x |1 0.2 x |1
il 0.044 x |1 0.049 x |1
P 1 0.027 x |1 0.050 x |1
wR| RIERK 0.023 x |1 <0.002 x |1
W | e~ 0.33 x |1 <0.002 x |1
H worax <0.005 * |1 <0.005 * |1
Tx/)— VK <0.02 x |1 <0.02 x |1
. HEBATERE  [<0.001 ~ <0.001{<0.001| 2 |<0.001 ~ <0.001|<0.001| 2
g TUE=THEZESE [<0.01 ~ 0.80 [ 0.40 | 2 ]<0.01 ~ 0.51[0.26 | 2
je | MHERREEEE [ 0.09 ~ 0.39[0.24 | 2 [<0.01 ~0.99 [ 0.50 | 2
HiflREREZE % [<0.01 ~ <0.01] <0.01| 2 [<0.01 ~ <0.01] <0.01] 2

(#) HAL : pHERZ, HAX (meg/0), NDIiZHEN T,
) LB ORITRIEME AN 1D TH D=6 [ | ORI H LB EFIT,
SO FHBEICEWTOOR ML, 0L L TEHA




